Evolve Fitting Instructions

\ Ir a EASYF—IX ate: 30/06/2022 Rev. A

Livestock comrort | 1 0f 13 www.easyfix.com




f Components )
Evolve Section

Stub Wall

\Available in

1843mm or
1475mm lengths.

M12xLocknut

Joiner Bracket Stub Wall Bracket

M12x150mm
Bolt

M12x118mm
Throughbolt

SDS Dirill

SDS M12 Masonry
Drill Bit

A
"®| Date: 30/06/2022 Rev. A01
_ [GIEASYFIXT> ®

Livestock comrort . | 2 Of 13 www.easyfix.com




Fitting Stub

Wall Bracket

This edge must rest
on the top surface
of the Stub Wall.

295 to 325

Step 1 -3

M12x118mm
Throughbolts x 3

Step 4 -5

M12x118mm erIZXNu;s
Throughbolts tig t_eneI
hammered appropriately.

\ into place. rﬁ E ASYFIX® Date: 30/06/2022 Rev. A01

Lvestock comrort | 3 Of 13 www.easyfix.com




M12x150mm
Bolts & Locknuts

Available in Available in
1843mm or 1843mm or
1475mm lengths. 1475mm lengths.

Do not put bolts
through the bracket
until the next Evolve

section has been inserted.

Plan View

1475mm or 1475mm or
1843mm - 1843mm

110

\ Ira EASYF_I'X ate: 30/06/2022 Rev. A01

Livestock comrort | 4 0f 13 www.easyfix.com




: N

Available in
1843mm or
\ 1475mm lengths.

Available in
1843mm or
1475mm lengths.

Both Evolve Sections
need to be in place

and positioned correctly
before the M12 Nuts
are fully tightened.

Fully Tighten both——
of the M12 Nuts

\ Ira EASYF_I'X ate: 30/06/2022 Rev. AOl/

Livestock comrort | O Of 13 www.easyfix.com




K Components N\

Plastic Pipe
Available in
Red, Blue or
Green.

M12 Locknut \b

M12x100mm
Bolt

Step 1

Top Bottom

la E ASYFIX® Date: 30/06/2022 Rev. A01
k r 6 of 13 www.easyfix.corrj

LIVESTOCK COMFORT




f Step 5 \

After spacing
pipes as required
Tighten Locknut
appropriately.

Tools

19mm Spanner

19mm Socket —

®| Date: 30/06/2022 Rev. A01
rlaEASYFIX ate ev

Livestock comrort | 7 Of 13 www.easyfix.com




368mm (+10/-40mm)
To be adjusted to

’—7 I 4—‘ suit Animal Size.

Feed Passage
Side.

Animal Side

248mm (+10/-40mm)
To be adjusted to

suit Animal Size.

k Ira EASYF_IX ate: 30/06/2022 Rev. A01

Livestock comrort | 8 Of 13 www.easyfix.com




/~ *Qptional )

Evolve Feed Barrier Installation Using IPE Leg

L-Bracket Joiner or
Internal Sleeve Bracket

Evolve Section

IPE Leg & L-Bracket Assembly

Tools

13mm Spanner  13mm Socket  12mm HSS
19mm Spanner  19mm Socket  14mm HSS 12mm SDS

/%

Parts List

Component Quantity
IPE Leg
IPE L-Bracket
Evolve Steel Section
M12x118mm Throughbolt
M12x50mm Bolt
M12x110mm Bolt
M12 Nut

IPE Internal Sleeve Bracket
M8 Expanding Bolt

\ Ir a EASYF_IX ate: 30/06/2022 Rev. A01

LIVESTOCK COMFORT 9 of 13 WWW.eaSYﬁX.Con'J

|

O(o|N(aL|D[W|IN|[—|FH
== O DIDN|-




-

Step 1 - Assemble IPE Leg & L-bracket Assembly

Choose the appropriate
holes for the appropriate
feed barrier height.

12mm HSS

\ IraEASYF—IX ate: 30/06/2022 Rev. A01

Livestock comrort | 10 of 13 www.easyfix.com




Fixing the Feed Barrier to an IPE )

Steps 4-5 Steps 6-7
IPE L-Bracket IPE Internal Sleeve Bracket

Step 4 - Mount the IPE L-Bracket

@12 (x4)

®| Date: 30/06/2022 Rev. A01
Ira EASYFIX'| oz ev

Livestock comrort | 11 of 13 www.easyfix.com




Step 5 - Fix the Evolve section to the IPE L-Bracket

Step 6 - Alternative IPE Internal Sleeve Bracket

k Ir a E ASYF_IX Date: 30/06/2022 Rev. A01

Livestock comrort | 12 Of 13 www.easyfix.com




K Step 7 - Fix the Evolve section to the IPE \
Internal Sleeve Bracket

13mm Socket
@23Nm

k rl a EASYF_IX ate: 30/06/2022 Rev. A01

Lvestock comrorr | 13 0f 13 www.easyfix.com




